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(a) A=Y T3+ 9 H(R)E T3t
Ans) Y(2)+05e¢ 72 v(0)= X(0)
1

HN)= ————
1+0.5¢ 7%

V() = X(0)H(2) = 0'5—;-9 o.5_m
14+ 0.5¢ 1—0.5¢
0.5(—=0.5)"u[n]+0.50.5)"u[n] = (—0.5)" "'+ (0.5)" " uln]

yln] =
(d) ¥ DTFT7F X(02)=1+2¢ 7Y of A% & T3l
1+2¢ 739 1 2¢ 139
+ myys
1+0.5¢ 7

Ans) Y(2) = X(2)H(2) = —5= —
1+0.5¢ 7 1+0.5¢ 7
“yln]l = (—05)"uln] +2(=0.5)" 2uln—3]



1

(1—0.25¢ 72)(1+0.5¢ %)
1/9 2/9 2/3

/ —+ /_,Q+ /_,M

1—10.25¢ 14+0.5¢" 7 (1+0.5e77%)

(e) 4= DTFT7F X(02)=

Ans) Y(2)=X(02)H(2) =

(2) z,[n]=68[n]+ cos(Zn)

9
AH©O) HQ) HQ
1 1
- _E_fo 1% P —‘n_zi,fq zéiff‘r?) if—‘ﬂ_ﬁf_‘f q ,‘fﬁ‘ﬂf G
2 4 4 2 4 2 4 4 2 4 4 4 2 2 4 4
(a) (b) (c)
Ans) X,(2) =276(2) + 7 (5(02+ %)—&—5((2— %))+7r(5(.(2+ %)—1—5(9— %))—&-jw(é(()—&- %”)—5(9— 5%))
X2(Q)=1+w(5((2+%)+5((2—%))
(a)
(D) xl[n]:1+cos(£n)+cos(£n)+sin(5—nn)
6 3 6
V(Q)= H2)X,(2)=215(2)+ n(5(2+ %)M(Q—%))

" yln]= 1+cos(%)

(2) zln] =46[n]+ cos(%n)

(b)
(1) z,[n] = 1+cos(%n)+cos(%n)—i—sin(ign)
¥(2) = H(2)X,(2) =7 (5(2+ ) +6(2- 7))

"~ ylnl :cos(%)



(2) z[n] =6[n]+cos (%n)

¥(2) = H(2)X,(2) = H(2) + x(6(2+ )+ (2~ )
~ yln) = hlnl +cos(5n) = Ssine()cos (Fn)+cos(5n) = (1+ gsine(2)cos (5n)
(0)
(1) yln) = 1+ cos(En) + cos(5n) + sin (22-n)
V(@) = H@2)X,(2) = jr((2+ 20— 5(2— 1)
yln] = sin(>F)
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x,[n] A x,[n]
N-1 N-1
n n
x3[n] x4[”]
S NI N-17m

(@) o= A&7 4% DFTE 7HA=71

(b) ol2= A&7} 81429 DFTE 7HA=712
Ans) x,[n]

(0) o= A& disl X[o]=00°] =712
Ans) X[0]= >, z[n]

n=<N2>

webA z, [n] 2 x,[n]ol X[0]=0

o
rEI
A
rot
v



(d k=2,4,6° sl o= 257} X[k]=00°] =+=71?
Ans) X[kl= Y, zln]wy"

n=<N>
k=29 Aol Wy, W, Wy, W, W, Wi, Wi, widel M= 3 AAAT Fa
z[2]+x[6], z[1]+z[b]=z[3]+z[7]E& W= X[2]=0

— z[0]+z4] =

X[k]&= N/2=40l ] QAL ES wFeof stn=E f=6Y W =1 &

k=49 Agel= v, Wy, wy, wE, we, Wi mE, mite AR st weizich
— zlo]+z2]+z4a]+zl6]=2[1]+ 28] +z[6]+z[7] S W=EH X[4]=0

12.29 o]t A% z[n]=[1, —2, 3, —4, 5, —6, 7, —8]9 DFT X[k]|E AXteA T g2 3
s},
7 7
(a) X10] (b) XxT4] (© X @ Y
k=0 =
N—-1
Ans) X[k] = Yz wy
n=0
N=g8o|B=&
N—1 N—1
X[o] = Zox[n] Wy = Zox[n]
N—-1
X4 = x[5] = 3 (-1)'zln]
7 N—1N—-1
YN xlk] = > Y el win= = Nzlo]
k=0 k=0n=0
7 N—1 N—-1
YK = Y (1) Y el = N[
k=0 k=0 n=0
7
(a) X[0] Zx[n]z—él
n=10
7
b) x[4] = 3 (- 1)"z[n] =36
n=20
7
() Y X[k]=Nz[0o]=8
k=0
7
@ (1) xk] = Nx[g] — 40
k=0
12.30 ob221 A% ()& WEY T4 8lkHz]Z MEHSY o)at A% z[n]& d& F
DFTate] b 2 X[k & vk dafe] A z(1)5 T8kt
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Ans) N=8 & ,=

N 8
agogYE X[k S IDFTsHH
1,1 2r yp L 2r
z[n] = 8+ 1 cos 3 n)+ 1 cos(2 S n)

Q=2n7} w, =27 x8000°] NI R, 0 = %”aﬂr 0, =

w, = 2, X 8000 = 20007
w, = £2, X 8000 = 40007

. x(t):%Jr% Cos(200077t)+% cos(40007t)
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